Chem 332 Name
Spring 2011

Homework #12

Due 10 a.m.Monday, Feb 21st

1. (10 points) Using any starting materials that conribute three or fewer carbons to the final product, outline
a synthetic route for converting A into B.
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2. (10 points) Deduce the structure of D, and draw an arrow-pushing mechanism for its formation.

Lil IR (neat) 3433, 2923, 2360, 2243,
| N D C]3H13NO 1658, 1589, 1535, 1515, 1347, 1151,
— A 1023 cm’!
N 0]

I NMR: 3C NMR:
7.29 (dd, J =10.0, 7.0 Hz, 1H) 163.1, s

C 7.24(d,J = 6.6 Hz, 1H) 139.5, s
7.19 (d,J = 8.0 Hz, 2H) 138.2. s
7.14 (d, ] = 8.0 Hz, 2H), 137.4.d

6.60 (d, J = 10.0 Hz, 1H),

6.12 (dd, J = 6.6, 7.0 Hz, 1H) 1334,d
. ,J =0.0, /. z,
5.10 (s, 2H) 130.0,d (2)

2.32 (s, 3H) 3?; g (2)
106.6, d
51.8,t
21.6,q

3. (10 points) Draw a detailed arrow-pushing mechanism for the conversion of E to F.
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